, . Or&4H > 4
P RAE 109 HER l’fgﬁi 5 F AR

%;ﬁ}f&]‘:’a&B 5924 Bf??:é{ﬂ

L3 L3, (45 &)

1. The domain of the function f(z) = V3 — e?* is (—o0, — |

2. lim (1 — Qx)% = 2

x—0

3. If/6 \/1+c052xdx:%,thena: V2
0

Zis 1

4. The critical number of the function f(x) = xe

! 15
5. Evaluate the integral: / 2°ds= —
0 In2
2+3 245
6. If f’ is continuous, f(2) =0, and f'(2) = 7, then lil’I(l) J(2430) + /(24 52) =5
T— T
7 i TS0
T—00 T

8. Evaluate the integral: / ) Inzder= _1
1
9. If / t2e! dt = p(t)e' + C, thenp(t) = > — 2t +2
L35 ~ 2P 5. (60 &)
1. For what values of @ and  is the following equation true ?

y sin2x+ n b _0
po0 \ 228 T g2) T

N
2. Evaluate the integral: /\/_ 0> cos(6?) db.
3

[Hint: Use the substitution rule to simplify the above integral first.]

. (0
3. Find the average value of the function f(x) — sin’ x cos® 2 on the interval {O, 5} .

4. Findthey. @y =2 (b)x’ =y".

1 1
5. Find (a) li . b) li - — :
fnd (2) o0 ( )xg& <x e — 1)

6. Find (a) / tan?@sect0dhd  (b) / tan® 2 sec® x dz.
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5 =S % ik
2 *
I la=3 b=l 6.8 — ¥ 4L 100
™ 1 ‘
2 | =23 71— ¥ 4239
4 3 *
3 Tor 72— % X855
, , Iny—-*%
4 (a)y =2"(1+Inz), (b)y = mn o 6.4* — % 4% 35,54
.I' —_—
1
5 (a) 1, (b) 5 6.8 — 4% 10, 3 4% 53
[ L. 5 L3 2 5 L 7 .
6 (a)gtan 9+gtan 0+ C, (b)gsec T — g sec CE—F?SGC x+C | 72— % 48 22,28
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